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1. #HERFREIS—5

(1) oS RImEE. BN HsdIFIEINH S DIFIN

=11} sk D I EYRHNS DIFYR
(kg/10a) (kg/10a)
RIME T S|XE BIME i3

jtiEE 3 2.4 974 566 741 385 -23 153
5HRE | 16 16.1 791 437 679 156 | -174 30
=F R 7 2.7 788 620 672 206 51 129
MHEE | 13 8.1 837 573 652 285 -4 78
WzR | 19 3.4 748 480 624 165 | -146 19
BEER | 17 5.5 852 374 627 311 | -187 79
RIFE | 12 8.2 730 524 649 203 -10 121
AR IR 1 2.4 623 623 623 134 134 134
FrRIR 4 7.6 657 503 610 156 0 106
28 2 12.1 836 664 750 305 124 215
=1 6 22.7 659 336 541 196 | -161 71
ZHE 4 8.8 690 466 603 214 -17 131
BEE 4 5.1 784 515 637 262 30 138
REPRT 4 4.2 580 459 516 113 -56 26
HER 4 2.8 632 520 572 141 14 64
SRR 1 8.9 566 566 566 54 54 54
AR | 11 8.9 812 527 662 285 -0 136
mEE 1 4.0 398 398 398 -77 -77 -77
ZIRIE 4 4.7 658 609 633 185 90 148
EEIR 6 4.1 758 557 640 215 35 114
== 7 6.4 712 563 652 194 118 167
5 146 7.7 974 336 636 385 | -187 88
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VRS IERR D I BN
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(3) YRARRRRIDFIELR (n=146)
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(1420
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10hall k& 27
20haldE | 1 1 10
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3. miEpl>—%~ (h=146)

(1) @ESOFEHEIN

ALOVE | 40 639 |ILfz. BE. #H
2ZHHE | 11 646 . LLO. FKE. B4
L1932 | 9 589 |HE. BYE. OB, WE
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Z | HREHNS | 6 508 #E. LA, =#. =IF
gyl AAFU | 3 | 637 |LO. K
o | RTHBE | 3 606 [KEH. LA
& | ZHPIED | 2 759 |[B&
MHE63S | 1 686 [N
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- 974 HtimE
TIO<> | 1 601 &
Wl=hES | 13 686 |[S&
HEREDS | 6 568  [5EB. T, IR, HJE
ehho 5 693 &EF
EHDIEH | 3 586  |B4l
Wicids | 2 642 e
B Zs@reh | 2 | 625  dbEE
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| FERER | 2 578 e
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EAELN 1 623  [FFfH
EE712 | 1 609 |BtE
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